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Con. 650-13.  (REVISED COURSE) PR rm

For Regular Students] i (2% Hours) [’;‘gggldl\@g‘t;ks : 80

For IDOL Students] 03 o ) [Total Marks : 100
Gl

: (1) Regular Students should,attempt any, four .questions, TS ) | EFl

(2) LD.O.L. Students should. attempt any five questions,
(3) All questions carry equal marks.

| 1. Attempt any two questlons - 20
o (a) Explain the main features of Rural Economy. ‘
| (b) Explain the importance of Fisheries industries. in India. e

(c) Explain the Forestry policy of Government of India.”

2. Attempt any two of the following :— : 20
(a) Critically evaluate Fei-Rains Model.
(b) What is mean by Human development ?- Explain the importance of Human
development. '
(c) Explain the Kuznet concepts of economic growth and income dlstnbutlon

3. Attempt any two of the following :- ' ' . 20
(a) Explain the role of Agriculture in economic devc!thment. '

ﬂ (b) Explain the causes of low -agriculture productivity in India.

(¢) What is Dry Land Farming ? Explain the techniques of dry land farming.

4. Answer the following questions (any two) :— 20
(a) Explain the importance and problems of Agro-based industries in Indla
(b) Evaluate the dairy farming in India.
(c) Explain the role of District Industries Center in rural economy.

5. Attempt any two questions :— , 20
(a) State and explain the various sources of irrigation.
(b) Comment on rural electrification in India.
(c) Discuss educational facilities and its performance in India.

} 6. Explain the following (any twe) :— 20
T (a) Describe progress and function of NCDC's

‘i‘; (b) Explain the role of NABARD in Rural Development in India.

a (c) Evaluate the function of Non-government Agencies in India.

\ 7. Write notes on any two of the following :— 20
(a) Floricultural in India
(b) Concept of Spread and Backwash effects
" (c) Agricultural Price Policy
(d) Self Help Group.

o b
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Con. 1126-13,
For Regular Students]
For IDOL Students]

Moy e,
PL-4468 ¥,

[Total Marks : 80 -
[Total Marks : 100

(REVISED COURSE)
(2% Hours)
(3 Hours)

N. B.: (1) Regular Students should attempt any four questions.
(2) IDOL Students should attempt any five questions.
(3) All questions carry equal marks. |
(4) Use of simple calculator is allowed.

1. Answers any two of the following — 20
(a) What is meant by Insurance 2 What are the uses of insurance to the family
and business community ? ;
(b) What is Social Insurance 2 How is it different from Private Insurance ?
(c) What is the need and purpose of insurance ?

2. Attempt any two of the following :— 20
(a) Describe various types of risks and their effects.
(b) How are Risks Identified 2 How can the risks be handled ?
(c) Write a brief note on Reinsurance. ‘

To 00~y

3. Answer any two of the following :— - 20
(a) Explain the role of insurance as a financial intermediary.
(b) Explain the importance of insurance.as a promoter of saving and capital formation.
(c) Role of insurance in economic development.

L
Wy =P A

4. Answers any two of the following - L 20
(a) What are the principles of underwriting of Health Insurance ? TR
(b) What are the advantages of Life insurance ? B
(c¢) Calculate Net single premium for pure endowment policy.

Year of Age Number . Number Present value
Insurance of Living of deaths of Re at 5%
1 31 58960 580 0-971 ey
2 32 58380 864 0-943 T
3 33 57516 1018 0-915
4 34 56498 850 0-886
5 35 55648 690 0-863
5. Answers any two of the following :— B 20
(a) What is General Insurance 2. How is general insurance marketed ?
(b) Explain the concepts of -
(i) Indemnity (ii) Subrogation.
(c) Briefly explain Fire Insurance.
6. Attempt any two of the following - 20
(a) Explain the role of IRDA.
(b) Why was the privatization of insurance necessary ?
(¢c) Bring out the Deficiencies of public sector insurance institutions.
7 Write short notes on any two = 20

(a) Factors affecting risk
(b) Marine insurance
(c) Distinguish between life and non life insurance i

d) T f reinsurance. :
( ) ypﬁs of reinsur ce [TURN OVEH
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Find the Regression Equation of x and y and 051'de

Con. 493-13. i ; 44 PL—4714
' (3 Hours) | Total Marks : 100
e N. B.: (1) Attempt any five questions, with a minimum of twe questions from
2o each section.
(2) Figures to the right indicate full marks.
(3) Answers to both sections should be written in the same answer-book.
(4) The use of simple calculator is allowed.
(5) Graph paper will be supplied on request.
Section I
R
1. Attempt any two —
(a) (i) A function is defined as — 5
flx) =x D<x<1
=3-x 1<x<2
? Discuss continuity at x = 1.
(ii) The cost function for a certain commodity is given by C=900x —30x2+x3, 5
where x is the output. Find the output at which average cost is minimum.
Verify that at this cost AC = MC.
24 (b) (i) Differentiate the following with respect to x — B
x 3 4 _ ’
) =t~ @) Y= xlogx"
(ii) The demand function of a commodity x is given as x = 300 — 6p, where 5
- p is the price of the commodity per unit and x is the number of units.
Find elasticity of demand when p = 12 and interpret your answer.
(c) (i) Examine for maxima and minima the following function — 5
f(x) = x2 — 6x + 13
(ii) A firm produces x tonnes of a certain product at a total cost given as 5
C = 2x? — 8x + 15. Find the level of output at which cost is minimised.
Also compute the minimum cost.
. Attempt any two —
(a) (i) Ifz=x2%-2xy—y?, calculate the approximate change in z when x changes 5
from 2 to 2-1 and y from 1 to 1-1 respectively. Interpret your answer.
(ii) Establish the degree of homogeneity of the function : 5
f(x, y) = 2x4 — 4y?
Ly (b) (i) Compute the marginal productivity of labour and canital at . =2 and 5
K = 3 for the production function U = 2L2 K + 3K3 + 6L + 9K.
(i1) Find all the second order partial derivatives of the function 5
Z = x% — 5xy3 + 6xy — x + 4y + 10.
(c) Using the Lagrange Multiplier Method, find x and y which maximises U, where 10
¥ U= xy + 2x
Subject to the constraint 4x + 2y = 60
[ TURN OVER
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3. Attempt any two =

2 2
(a) (i) Evaluate : (1) ](x - B dx (2) j 6x + 4 dx
0

(i) Find the present value of T 10,000 to be paid each year for five years,
when the rate of interest is 8% compounded .continuously..
(e=4 = 0-67032 , e~ = 0-6065) ya=
(b) The demand and supply functions in a competitive market are given as
Py = 1600 - x? and P = 2x2 + 400. Find consumers’ and producers’ surplus.
(c) (i) Afterthe production of 400 units of air-conditioners, the manager realises
that the production process is following a learning cruve f(x) = 1000 x5,
where f(x) denotes labour hours required to produce the xt! unit. Determine
the labour hours required to produce an additional 225 units.
(i) The marginal cost of 2 firm is given by the function MC = 100 — 10x + 0-1x2,
where x is the output. Obtain the total cost function of the firm under
the assumption that its fixed cost is T 500/-

4. Attempt any two —

(a) (1) If A= E i] and B {2 ;1 verify that (AB)! = B-lA-L.

(ii) 1fA=B ;] and B=[; g} find )A+B  ()B-A.

(b) (i) Solve the following using Cramer’s Rule
4x, — Txy + 3=0
5xy + 3%, F §8=0

1 2 3

A=|1 4 2

(ii) Find the rank of the matrix :
2 6 5

(c) Solve the following Linear Programming Problem graphically
Minimise Z= X+ 4y
Sujbect to 2x +y>2
x+3y>3
x>0, y=0
Please attach the graph paper inside the answer-book.
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Section II

5. Attempt any two —
(a) (i) Discuss the merits and demerits of the mean.

(ii) A merchant advises his agent to buy 150 calculators and sell them at 20%
profit. The agent charges 1% commission on the purchase and 2% on the
sales. On the whole, the agent gets a commission of ¥ 5,100/-. Find the

selling price of each calculator.

’ f

(b) Find the arithmetic mean, median and mode for the following data :

Weekly Wages | 500-599 | 600-699 | 700-799 [ 800-899 900-999 [1000-1099 | 1100-1199
No. of Workes 02 08 12 16 13 06 03
(c) Given the following data :
Factory A Factory B
No. of employees 200 150
A. M. of of daily wages (in ?)‘ 120 100
Variance 100 400

Find : (i) Combined A.M. and standard deviation.
(ii) In which factory are the wages more variable ?

6. Attempt any two :—
(a) The distribution of marks

below. Estimate the likel
in Economics :

Marks in Economics

45 25 28

42 | 43

40

39

37

42

Marks in Psychology

70 68 80

8 | 70

75

65

39

54

(b) Calculate Karl Pearson’s coefficient of correlati

for the data given below :

on and intrepret your answer

Marks in Mathematics

25 | 20 17

16 | 20

14

23 | 21

15 |12

Marks in Economics

24 | 71 22

18 | 20

18

24 [ 20

16 | 14

(¢) (i) Compute Pearson’s coefficient of correlation from the following data

N=20 Xx =240 Zy=400 =x?=4560 Zy2='1020 Ixy = 6960

(ii) Calculate the rank corrleation coefficient from the following information :

Rank by Judge A 1 2

i

3 4

5

6 7

8

Rank by Judge B

4 5

6 7

8

2 3

5
5

10

10

in Economics and Psychology of 10 students is given 10
y marks in Psychology if a student scores 50 marks

10

5

5

[ TURN OVER
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7. Attempt any two :—
(a) (i) Calculate Fisher’s price index number for the data given below taking 2005

as the base year.

Price in Quantity
Commodity 2005 2010 2005 2010
A 2 3 8 9
B 1 2 5 8
| C 8 - T 9 5
(ii) Discuss the uses of index numbers.
(b) Obtian a four year centered moving average for the data given below :

Year 2000 | 2001 | 2002 | 2003 2004 | 2005 | 2006 { 2007 {2008 2009

Production
(in tonnes) 21 22 23 | 25 24 22 25 26 27 26

(¢) Determine the equation of 2 straight line which best fits the following data 10
and predict earnings for 2015 :

Year 2003 | 2004 | 2005 | 2006 2007 | 2008| 2009|2010

Earnings
(in Lakhs of ) 38 40 65 72 69 60 l 87

8. Attempt any two -
(a) (i) A card is drawn at random from a well shuffled pack of cards. Find the
probability that it is :
(1) aking (2)a spade (3) a red card (4) not a picture card.
(ii) Two dice are thrown simltaneously. Find the probability that —
(1) The sum of numbers is 7 (2) The same number occurs twice.
(b) The average yield of a certain crop was found to be 20-5 kgs per plot, with a
standard deviation of 3-2 kgs. Assuming normal distribution of yield, find how
many plots out of 2000 will have an yield of 23-7 kgs or more.
(Area between z = 0and z=1is 0:3413
area between z = 0 and z = 2 is 0:4772)
(¢) (i) Findn,p and q for the binomial distribution given by mean = 20, standard
deviation = 4.
(i1) If on an average 9 ships out of 10 arrive safely to port, find the mean
and standard deviation of ships returning safely out of a total of 500 ships.
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B.: (1) Attempt any five questions, selecting not more than three questions from each section.
(2) Answers to both the sections should be written in the same answer book.

low taking 2005 6 (3) Figures to the right indicate full marks.

(4) Use of simple calculator is allowed.

(5) Graph papers will be supplied on request.
010 (6) Attach the graph paper inside the answer book.
3 Section I
5 . Attempt any two of the following :-
4 (a) What is research ? State the significance of research. 10
en below : 10 (b) Elaborate the process of research work. 10
y 12008 2009 (c) Explain the role of computer technology in research. 10
27 2% !. Attempt any two of the following :—
: (a) Explain the following :— 10
e following data 10 (i) Qualitative and Quantitative data
(ii) Sources of secondary data.
2009|2010 (b) Describe probability sampling methods 10
(c) Explain the criteria of a good sample. 10
wll R J. Attempt any two of the following :— .
(a) Write a note on 'Interview method' of data collection. 10
¢ cards. Find the: /5 (b) Explain the 'Questionnaire method' of Primary data collection. 10
' (c) Briefly overview the contents of RBI Bulletin as a source of secondary data. 10
fture card. _
tfat B st Attempt any two of the following :—
i, (a) (i) Write a note on tabulation. 4
s per plot, witha 10 (ii) Graphically locate the mode for the following data :— 6
pf yield, find how. CL| 0-10 | 10-20|20-30 | 30-40| 40-50| 50-60|60-70 | 70-80( 80-9090-100
- F| s | u|lw |[2a|is|w0|8] 6] 3|1 -
(b) Calculate arithmetic mean and median for the following data :- 10
ban = 5
=t sbmdarc. 8 CL] 0-1000 ] 1000-2000 | 2000-3000 | 3000-4000 | 4000-5000 | 5000-6000
rt, find the mean £ F 18 26 30 12 10 4
total of 500 ships. ‘ :
(c) Calculate coefficient of variation for the following data :- - 10
C.I.| 30-40| 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
F 1 s | 1 21 43 32 9
Section II
5. Attempt any two of the following :- 20
(a) Calculate Karl Pearson's correlation coefficient for the following data :—
x [20 [ 22| 23| 24|25 26| 28] 29 |31 |32
B ) 2 y 34 | 32| 29| 28|27 | 26| 25|24 |23 |22

(b) Find the Regression Equation of x and y and estimate x when y = 10
x | 12113117 |18 | 20 | 25

y | 30272620 [17]15 [TURN OVER
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(¢) Fita trend using four yearly moving averages method.

g () Eal
Sales | 50 | 31 | 32| 33 | 34 36 | 37 Q) 2

('000 %)

() SN
6. Attempt any two of the following ‘- (¥)
(a) (i) State the problems involved in the construction of index number. (W)
(ii) Calculate Real Income for the following data i~ (&)
ﬁear \ Index Number\ Wages (%)
: g, Gt
2005 100 500 : (31) ¥
2006 120 550 (=)
2007 130 . 600 (@)
2008 145 650
2009 160 700 3. @l
(31) wE

(b) Calculate Fisher's Index Number for the following data :—

(@)
F l 2005 \ 010 | @)

ommodity rpriceTtSTQuantity \ Price(3) \ Quantit);\

3. et
A 15 10 20 10 (3)
B 18 10 24 08 _ @)
Cc 20 08 30 06 ()
D 10 10 15 09
E 05 04 10 04 ¥. @riadet
_ (30 (
(c) Calculate cost of living Index number for the following data :— (
Current Year| Base Year
il Price (9 \ Price (3) ‘\ el
& Food 40 30 40
' Clothing 30 25 20 @)
House Rent 135 12 15
Fuel & Lighting 12 10 20
Miscellaneous 30 28 05
7. Attempt any two of the following '~ (@)
(a) Define hypothesis and explain its role in research.
(b) What are the criteria of a good hypothesis ?
(c) Explain the following -
(i) Null and Alternative hypothesis
(ii) Typel and Type 1I errors.
8. Attempt any two of the following = ! (3t

(a) Discuss the meaning and significance of a Research Report.
(b) Describe various types of Research Reports.
(c) State the precautions while writing the Research report.

e

(o
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N.B

(d) Heavy Industry Model.

Eco- 0 (OLD COURSE)

(3 Holrs) [ Total Marks : 100

-+ (1) Attempt any five qQuestions by choosing atleast two questions from each section.

(2) Figures to the right indicate full marks.

Section |

Attempt any two of the following :— 20

(a) Define the term ‘rural development’. Explain its scope and importance.
(b) What are the special problems of rural women ? ‘
(c) Suggest the measures to generate employment in rural area.

a) Define ‘Village level planning’. Bring out its importance in rural development. 10
)

b) Explain the sectoral approach to rural development. 10
(a) Explain the meaning of H.R.D. How is it useful for rural development ? 10
(b) Discuss the role of education and health in rural develpment. 10

(a) Explain the significance of irrigation and power supbly in rural development. 10
(b) Explain the problems of agricultuyal,marketing in India. Discuss measures for 10
its improvement.

Section Il
(a) Why is rural industrialisation essential for rural development ? 10

(b) Explain the significance of horticulture and dairy as allied activities in rural 10
development.

(@) Discuss the causes for and remedies to reduce rural indebtedness. 10
(b) Explain the sources of rural finarice.’ 10
(a) Examine the working of ‘Panchayat Raj’ institutions in India. 10
(b) Explain the importance of NGO's in rural development. 10
Write notes on any two of the following - " 20 -

(a) Impact of Globalisation on rural employment
(b) IRDP in India i

(¢) EGS in Maharashtra

(d) Urban-Rural Imbalance.
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Con. 1424-13. (OLD COURSE)

(3 Hours)

(1) Attempt any five questions with minimum
(2) Figures to the right indicate full marks.
‘ (3) Answers to both the secuons should be written in the same answer book.

N.B. : two questions fromeach section.

Sectlon I

1. Attempt any two of the following :—
(a) Comparative cost theory
(b) Smith’s theory of value
(¢) Ricardian theory of distribution.

q o F.

T8 &1,

Discuss any two of the following :—
(a) Industrial Reserve Army
(b) Economic ideas of J.'B. Say ‘
(c) Malthusian theory of population and the possibility of gults.

Examine the contribution of the following economists of the development of economic
ideas (any two) :—

(a) Irving Fisher

(b) Bohm Bawerk

(c) Wicksell

Attempt any two of the following :—
(a) Marx on surplus value
(b) Main tenets of physiocratic thought
(c) Jevon’s contribution to the marginal revolution
(d) Smith’s views on economic development.

Section II

- 5. Examine any two of the following Marshallian concepts :—

(a) Time element in value determination
(b) Consumer’s Surplus
(¢) Quasi Rent.

Discuss the Keynesian concepts mentioned bclow (any two) :—
(a) Role of Fiscal Policy
(b) Investment Multiplier
(c¢) Liquidity Preference Theory of Interest.

7. Highlight the contribution of the following thinkers (any two) :—
(a) M. K. Gandhi (b) Dadabhai Naoroji (¢) Ranade

Write notes on any two of the following :—
(a) Principle of effective demand
(b) Pigouvian economics
(¢) Role of the entrepreneur in Schumpetarian economics
(d) Heavy Industry Model.

Onomies = RAeN L sty o E ool P9 b
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¥ |Con. 598-13. (REVISED COURSE) PL-3686
i
(3 Hours) [Total Marks : 100
N.B.: (1) Attempt any five questions, selecting not more than three from any Section.
(2) Figures to the right indicate full marks. '
T 0T : Roo (3) Answers to both the Sections should be written in the same answer-book.
Section |
1. Answer any two of the following :— 20
(a) Discuss the concept of Women's development studies.
| (b) Discuss the Patriarchy in developed and less developed countries.
Ro! (c) Explain the gender bias in the theories of distribution and population.
’ 2. Answer any two of the following :— 20
(a) Examine the causes of declining sex ratios in India.
| (b) Explain the different methods of measurement of fertility.
Ro (c) Outline the impact of access to nutrition and education on women's
work-participation and economic status.
’ 3. Answar any two of the following :— 20
‘ (a) Define women'’s work. Explain the valuation of visible and invisible work.
Reo (b) Examine the valuation of paid and unpaid work.
(c) Discuss the valuation of economically productive and socially productive work.
‘ 4. Attempt any two questions :— 20
(a) Examine the factors affecting decision making by women,
o (b) “The power of decision making at household and class level”. Discuss.
(¢) Comment on impact of economic status of women on work participation rate and
| education.
Section |l
L
| 5. Answer any two of the following :— 20
(a) Explain the factors affecting the supply and demand for female labour in e
Ro | developing countries. '
(b) Explain the impact of gender, education and skill on wage differentials.
(c) Comment on structure of wages across regions.
| 6. Answer any two of the following :— 20
o . (a) Describe the impact of technology and modernization on women's work., -
(b) Explain the participation of women in agriculture and cottage industries.
(c) Comment on the role of new technology for helping women.
7. Answer any two of the following :— 20
Ro (a) Examine the role of voluntary organizations in providing Social Security for women. ks
(b) Explain the importance of Female Trade Unions in India.
(c) Examine affirmative actions for women and improvement in their economic and
social status.
R° | 8 Write a notes on any two of the following :— 20
(a) Gender and Development indices
(b) Gender Planning Techniques
(c) Reservation and Women's Empowerment in India.
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For Regular Students] (2%2 Hours) [Total Marks : @C:l‘ -
For IDOL Students] "~ (3 Houns) [Total Marks : 100~
N.B. : (1) Attempt any four questions. ‘ , 0
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(2) Figures to the right indicate full marks,
(3) The Students of IDOL should attempt any five questions for 100 malhin_B hours.

. Answer any two of the following :— . 20
(a) Explain the functions and types of entrepreneurship.
(b) What are the factors influencing entrepreneurship ?
(c) Discuss the qualities of the successful entrepreneur.

2. Explain any two of the following :— 20
(@) SWOT analysis
(b) Time management and entrepreneurship
(c) Product ideas.

3. Give details of any two of the following :— . 20
(a) Minimum Wages Act
(b) Trade Union’s Act
(c) Copy Rights and Trade Marks.

4. Answer any two of the following : — 20
(a) Explain the meaning and importance of Small Scale Industries.
(b) Explain the location policy of an enterprise. S
(¢) Explain the policy of the Government of Maharashtra towards Small Scale
Industry.

5. Explain any two of the following :— - 20
(a) Working Capital Management
(b) Human Resource Management
(c) E-Business.

6. Give details of any two of the followihg — ' 20
(2) Explain the export documents and procedures of a Small Scale Industries
(b) Major constraints of Small Scale Industries in export
(¢) Export potential of Small Scale Industries.

7. Write explanatory note on any two of the following :— 20
(a) Challenges before women entrepreneurship in India
(b) Communication skill of entrepreneur
(c) DIC
(d) Market Survey.

----------------
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« Con. 1250-13.

Tor Regular Students]
For IDOL Students]

N.B.

(2¥2 Hours)
(3 Hours)

:(1) Attempt any four questions.
(2) Figures to the right indicate full marks for the question.

(3) Use of simple calculator is permitted.

(4) The students of IDOL should attempt any five questions for 100 marks in 3 hours.

()

Nan -

12%069

[Total Marks : 80
[Total Marks : 100

L

1. Attempt any two of the following :— 20
(a) Explain the meaning and objectives of Corporate Finance.
(b) Examine the functions of a Financial Manager.
(¢) Discuss the importance of Corporate Governance.
2. Attempt any two of the following :— 20
(a) Outline the various sources of short term finance avallablc to a firm
(b) Discuss the merits and demerits of Equity financing
(¢) Explain the significance of Hybrid financing.
3. Explain any two of the followmg — 20
(a) Meaning and determinants of Dividends
(b) Kinds of Dividend Policies
(c) Stock Splits.
4, Discuss any two of the following :(— 20
(a) Role of capital market in economic development
(b) Primary and secondary capital market
(¢) Invester Protection.
5. Attempt any two of the following — 20
(a) State and explain the capital budgeting process
(b) Calculate Pay back period and Average rate of Return for the following :—
Initial Investment — ¥ 50,000
Year 1 2 3 4 5
Cash flow
L9} 10,000 10,450 | 11,800 | 12,250 | 16,750
(c) Calculate the Internal Rate of Return (IRR) with the help of following information.
' \
Year 1 2 3 4 5 ‘ |
|
Net Cash '
flow (%) 1,18,000 | 60,000 | 40,000 | 14,000 13,000 Ja ‘
: f
Discount 10% 091 0-83 0-75 0-68 0-62 %J o 1
Factor 20% 0-83 0-69 0-58 0-48 0-41 ‘ P
Original Investment is ¥ 2,00,000.
[ TURN OVER ‘
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(d) Proprietory ratio
(e) Gross profit ratio.

7. Write explanatory notes on any two of

(a) Agency Theory
(b) Debentures

(¢)  Stock Repurchase
(d) Ratio analysis.

------------

the following :—

20

P3-upg-Feb.-43KL-142
Con. 1250-PL-4069-13. 2 Con. 1250-PL
6. Attempt any two of the following :— 20
(a) Discuss the contents of a Balance Sheet frafrg Rrame
! t (b)  Explain Turnover and Leverage Ratios
' (c)  Given below is the Balance Sheet of Radhika Ltd. as on 31-3-2012. Sp R AR R R
A (2) Eﬁ
Balance Sheet of Radhika Ltd. as on 31-3-2012. (%) 2
(3) ¥
. . = (¥) 9
{? I. Sources of Funds :
% il (1) Owned Funds : aidtatd
Equity Share Capital 10,00,000 ' (31) weM
Reserves and Surplus 2,00,000 (@) e
' 12,00,000 w) =
(2) Borrowed Funds : (
Long Term Loans 4,00,000 A d
y Total Funds employed 16,00,000 ) (a1) e
o II. Application of Funds : o
j (1) Fixed Assets 12,20,000 () -
—— (2) Working Capital : (®)
Current Assets : vy
Stock 3,20,000 ' .
Debtors 2,40,000 (af) mq
Bills receivable 50,000 @) @
7 Cash 70,000 (@) B
: Total current Assets (A) 6,80,000
| ;@Tc-ﬂaaﬁ
{ Current Liabilities : : :
| Creditors 2,40,000 CORRIE
Bank Overdraft 60,000 @) ¥
Total Current Liabilities (B) 3,00,000 (@) 7
Working Capital (A-B) 3,80,000
Total Funds utilised 16,00,000 : ?‘?)ﬁaa"‘a
3) HIE
Additional Information : (@) @R
Sales — T 14,60,000 ge
Gross Profit — ¥ 2,19,000
Calculate :
(@) Current ratio
(b) Liquid ratio (®)
(c) Debt equity ratio
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12,00,000

4,00,000

12,20,000
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#N.B.: (1) Attempt any four questions.

(2) Figures to the right indicate full marks.
1. (a) Write short notes on (any two) :—
_ (i) Generations of Computer 7 _
_ (i) Block diagram of Computer System. ‘

(iii) Output devices in a Computer system.
(iv) Types of Computer Memory.

(a) Attempt (any two) —

() What are the characteristics of an operating system ?

(i) Discuss important uses of internet.
(iii) Distinguish between LAN and WAN.

2. (a) Given following worksheet, write the steps of find :—

() The name of student with the lowest marks in subject 1.
(i) The number of students appearing for the test.
(iif) Average of the marks in subject 1.
A B
1 Name of Student Marks in Subject 1
2 Rakesh 20
3 Mohan 21
4 Suzan 25
5 Brij 18
6 Shahrukh 17
T Salman 16
8 Padmini 14
9 Kareena 20
(b) Explain the following functions with the help of examples :—
(i) = MID -
(i) = TRIM
(ii) = ROUND
(iv) = NOW
[ TURN OVER
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(c) Find the return value for the following functions :—

A B

Function Return value
MOD (15, 2) enter
LEFT (Forest, 3) enter
UPPER (Economics, 3) enter
SQRT (4) enter
FACT (4) enter
TIME ( ) enter

3. Attempt any two of the following -
(a) Write steps to draw a line graph with the help of following data -

A B c

Year Production (tonnes)

2005 85
2006 87
2007 89
2008 90
2009 88
2010 92
2011 95

(b) Following is the information about the employees in Company XYZ :-

A B C D

Name of Employee Age | Designaion Basic Salary

Jamir 26 Clerk 10,000
Seema 28 Clerk 10,000
Hemant 23 Supervisor 15,000
Chinmay 22 Clerk 10,000
Janaki 35 Supevisor 15,000
Naina 37 Manager 20,000
Mitesh 30 Clerk 10,000

For the above information, write steps to —
(i) Sort the data in alphabetical order of the names of employees.
(i) Arrange the data to get the names of employees who are Supervisors.
(iii) Get the names of employees below the age of 30 years.
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3 (c):. Given the following data, write steps to calculate total revenue, total cost 10
3 and profit or loss - '
1,V A B Cc D E F
1 [ Quantity [ Price | Average Total Total | Profit/Loss
F in Units (%) Cost Revenue | Cost
2 1 10 8
3 2 10 F i
4 3 10 6
5 4 10 5
6 5 10 6
7 6 10 7
4. Write short notes on (any two) :— 20
(a) Formating of Excel Worksheet

(b) Pivot Table
(c) Mixed and Absolute References
(d) Types of graph in Excel.

5. (a) Write procedure for creating tables for sorting personal data on any two of the 10
following in Access :—
(i) Guests
(ii)) Books
(iii) Diet Log.
(b) Write the procedure for creating tables for sorting business related data on any 10
two of the following in Access —
e (i) Employees and tasks
(i) Students

(i) Semice record.
ary ; .
6. Write short notes on any two :— 20
(a) Using report Wizard in Access
(b) Creating forms
(c) Creating queries.
7. Write notes on any two of the following :— 20
(a) Data types in Access
(b) Components of Access table
(c) Field properties.
pes.
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N.B.: (1) Attempt any five questions, selecting not more than three from one section.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Section I
1. Attempt any two of the following :- -
(a) Explain Cournot's model of oligopoly. 10
(b) What is Cartel ? Explain price-output determination under perfect cartel. 10
(c) Explain Nash Equilibrium with help of Game Theory. 10
2. Attempt any two of the following i~ - ,
(a) Explain factor price determination under perfect competition. 10
(b) Explain the role of collective Bargaining in wage determination. 10
(c) Discuss the Loanable Fund theory of Rate of Interest. - 10

3. Attempt any two of the following -
(a) Discuss the concept of General Equilibrium and its existance. 10
(b) Explain the Pareto Optimality condition of efficiency in the allocation resources 10
among the firms. e =t

(¢) Derive the Pareto Optimality conditions under perfect competition. 10
~

4. Attempt any two of the following :- y :
(a) Explain the significance of Economics of search. 10
(b) Explain asymmetric information and the market for Lemons. 10
(c) Explain the principal agent ‘problem and suggest measures to overcome it. 10

Section II

5. Attempt any two of the following -

(a) Derive the LM curve and explain its features. 10

(b) Explain the impact of expansionaly fiscal policy on National Income and Rate 19
of Interest with the help of ISLM Model. i

(c) Explain the trade-off between unemployment and inflation with the help of 10
Philips's curve.

6. Attempt any two of the following :— :
(a) Explain the Purchasing Power Parity theory of exchange rate. 10
(b) Discuss the Mundell-Fleming Model with flexible exchange rates. . 10
(c) Explain Monetary measures for correcting disequilibrium in balance of payment. 10

7. Attempt any-two of the following :—

(a) Discuss the Ricardian theory of International Trade. ",10

(b) What is free trade ? Explain the arguments in favour of free trade. 10

(c) What are tariffs ? Explain the effects of tariffs. 10
8. Attempt any two of the following :- B

(a) Discuss the role of State in overcoming market failure. .10

(b) Explain the free rider problem in the context of public goods. 10

(c) Explain the benefit principle of taxation. 10
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